Calculation

Charge is uniformly distributed along
the x-axis from the origin to x = a.
The charge density is 4 C/m. What is
the X-component of the electric field
at point P: (x,y) =(a,h)?

We know:

Adx

E:jk‘:—‘jf dq

Whatis E, ?
i kA cos 6,dx
0

(a—x)* +h?

C) A and B are both OK

45

2 (a—x) +h’

B) Ak cosé j

Y
/xh dE
L2 x
P d
,///// h
e 4 r
-7 ///
’,
-,
e P
’z’ 91 i gi v
_ X
X a R
dq = A dx

E, =jdEcose2

dx
h® +(x—a)’

coséd, DEPENDS ON X!

Electricity & Magnetism Lecture 2, Slide 17





